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2R (MR 2 E EDHGR 42 | 40 | 82 [12.0 |70.0
#E =R X E—XJUOR 43 | 41 | 84 |12.0 |72.0
3 |M& K EDHGR 44 | 43 | 87 |14.4 |72.6
4 |HFE RRE E—XUUOR 44 | 42 | 86 |13.2 |72.8
5 MK £F HEGC 48 | 44 | 92 119.2 |72.8
6 EH RE E—XU2OR 46 | 39 @ 85 [12.0 |73.0
7RI BT E—XJroR 42 | 36 | 78 | 4.8 |713.2
8 '=H Bra EDI#HGR 44 | 45 | 89 |15.6 |73.4
9 | KE EB*x | HUtGG 44 | 49 | 93 |19.2 |73.8
10 | #kA  mE G75%54 45 | 40 | 85 |10.8 |74.2
1|5 EE ED#HGR 45 | 45 | 90 |15.6 |74.4
12 'ER =Xfi#tk | YotGG 45 | 44 | 89 |14.4 |74.6
13 |&F BIED ft AGG 48 | 51 | 99 [24.0 |75.0
14 &X & f+ AGG 44 | 43 | 87 [12.0 |75.0
15 /NE XB E—XUOR 42 | 39 81 | 6.0 |75.0
16 N B AaA¥IL 47 | 39 | 86 |10.8 |75.2
17 | #E =5 ED#HGR 45 | 44 | 89 |13.2 |75.8
18 \IxE Mt E—XU2OR 44 | 39 83 | 7.2 |75.8
19 & BEE fnthGC 48 | 45 | 93 |16.8 |76.2
20 {Efk &R EDHGR 42 | 45 | 87 |10.8 |76.2
21 AR H#A C= S )12 46 | 41 | 87 |10.8 |76.2
22 X% B fnithGC 46 | 46 | 92 |15.6 |76.4
23 R HiF LETILZ 52 | 47| 99 121.6 |77.4
24 [RE & fit AGG 43 | 47 | 90 [12.0 |78.0
25 #p¥ E{EFk | EDHEGR 53 | 51 | 104 [25.2 |78.8
26 | K& #EFhk ENDHGR 56 | 59 | 115 36.0 |79.0
27 \Wufp % ED#HGR 59 | 64 | 123 36.0 |87.0
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